












 

86365 College View Road Eugene, Oregon USA 97405 (541) 747 0034 
 www.rosenvisor.com Page 1 of 1 

 
 

Mod Block Retrofit Kit 

 
 

Drawing List 
1020000-DL 

                                Doc. #9050-0102-004 

Drawing  Description Rev. 
  1020100-001 NSA Modified Block Assembly F 

    1020002-001 Modified ‘A’ Block P 

    1020003-001 Modified ‘B’ Block V 

   

   

   

   

   

   

   

9051-0102-004 Installation Instructions B 

 
 
 

Revision Date Aprv 
F 2/14/22 SYS 



 

86365 College View Road  Eugene, Oregon USA 97405 541.747.0034 
 w w w . r o s e n v I s o r . c o m Page 1 of 2 

Installation Instructions for 3rd Axis Kit for Rosen Sunvisor 
Installations      (Kit R1020000) 
 (Formerly RBB-300-1AK) 
This is an FAA STC’d installation requiring an Aircraft Maintenance Log Book Entry.                                                                                                      Doc: 9051-0102-004  

Rev Desc. Date Approved 

A Initial Release 5/20/04 GH
B Update 

Airworthness 
Section  

6/17/09 GH Please read through these instructions completely before beginning. 
 
Hardware: 

1 MS16995-27B  #8-32 x 5/8 Socket Head Cap Screw 
1 MS16995-28B #8-32 x ¾ Socket Head Cap Screw  
2 8HCLW #8 Split Lock Washers 
1 5/32 Hex Key 
1 9/64 Hex Key 
 

NOTE:  These instructions cover retrofit installation for all Rosen NSA systems.  

• Remove the #8-32 x ¾ screw from the side of the visor arm mount being 
careful to retain the locking washer. 

• Remove the visor arm from the mount.  The stub on the arm is lightly 
covered with lubricant.  Do not allow it to become fouled. 

• Remove the #8-32 x 5/8 screw from the back side of the mount being careful to 
retain the locking washer. 

• Remove the mounting block from the swivel post.  The swivel post will be 
lightly covered with lubricant.  Do not wipe it off. 

• Place the new Mod Block assembly onto the swivel post making sure the 
mounting screw location is aligned with the groove on the post.  The Mod Block 
Assembly is lightly pre-lubricated.  Install the #8-32 x 5/8 inch screw with locking 
washer and tension till there is light resistance to motion. 

• Re-install the visor arm into the Mod Block and replace the #6-32 x ¾ 
screw with locking washer and tension until the visor is stable. 

• Adjust the tension on all the screws until the visor assembly moves freely 
but not loosely in all the axis’.  Tensioning MUST be done on the ground.   

• To complete this conversion make an entry in the Aircraft Maintenance Logbook indicating the 
installer and the date of the installation.  Include the STC in the Aircraft Maintenance Logbook. 

 

Continued Airworthiness Instructions: 

• (On the ground only) 

o Periodically clean the lenses with a soft cloth, mild soap and water or an approved 
aviation grade windscreen cleaner.  Do not use abrasives on the lens. 

o Periodically adjust the pivot tensions on the visor assemblies. 



86365 College View Road  Eugene, Oregon USA 97405 541.747.0034 
 w w w . r o s e n v i s o r . c o m Page 2 of 2 

• Updates to this continued airworthiness section are available on the Rosen Website. 
(www.rosenvisor.com)  

The most up to date version of this document is available on the Rosen Website. (www.rosenvisor.com)   

 

Airworthiness Limitations: 

The Airworthiness Limitations Section is FAA approved and specifies maintenance required under 
§§43.16 and 91.403 of the Federal Aviation Regulations unless an alternative program has been FAA 
approved. 

There are no airworthiness limitations associated with this installation. 

 

http://www.rosenvisor.com/
http://www.rosenvisor.com/

	9051-0102-004 Rev B Installation Instructions for Mod Block Retorfit Kit.pdf
	Installation Instructions for 3rd Axis Kit for Rosen Sunvisor Installations      (Kit R1020000)
	 (Formerly RBB-300-1AK)




